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9. Sri jyothi has a basket full of bananas,

oranges and Mangoes. If 50% are
Bananas, 15% are oranges, then what
percent are Mangoes ?
&&%8 avidone wsdBor, Shere, S8
Boly edBow. oS’ 50% wsdSow,
15% Eoeren &) Srd Hol F&o Jos?

Sol.

B+ O+ M =100%
=50% + 15% + M = 100%
= M =100% — 50% — 15%
. Mangoes = 35%

10. On rainy day, out of 150 students in a
school 25 were absent. Find the
percentage of students absent from the
school ? What percentage of student
are percent ?
a8 e’ S50 B85 SFwd 150 Hobd
Dgho mk, 25508 FToH oS,
®ond ol 8)2:7‘3630 TEDoE ? ®oT SIS

@
:Jcs\g&ge EDoE ?
Sol.
Total students = 150
No. of Absent = 25
No.of persent students = 125

iy 150——25

100 ?
BT T° Dorgie o =
4
25x400 50 _ 2,
156 3 3
H
i) 150 —— 125
100 ?
FETo SIS oeghe 8o =
@
50 3 50 5
100 x 75 106-x1425 250 83lcy
= S r— — /0
+56- 156 3 3
< i
e S i
1 2 1
S==16=% .'.2:83—%
6 3 6 3

11. Out of 12000 voters in a constitutency,
60% voted. Find the number of people
voted in the constitutency ?

28 dReest SBoEPR 1200 Hood £.88° 60%
$08 LtnFTth. wond Lén IS T8 Bogys
o ?
60
Sol.

12060-x ——=7200
1-86-

- B0 33 08 Sogg = 7200

12. A local cricket team played 20

Sol.

matches in one season. If it won 25%
of them and last rest. How many
matches did it loose ?

& 08 838 En& 20 SgS o wE

oSt 25% 57‘35@65 Deascho JrgoDod.

wond © 85 fefyonis S8 © Hogyg ?
o eld Srghen = 20

75
Bo 5% yows (lost)smgSen = 00, 20=15

13. In every gram of gold, a goldsmith

mixes 0.25 grams of silver and 0.05
grams of copper. What is the
percentage of gold, siver and copper
in every gram of gold ?

2.8 oD (B8 (o worroedd 0.25 (i

J0&Q, 0.05. T°AR SeodHT. (B8 (P

H www.facebook.com/ntnipuna

) 8eSh8ge WI g0

Band) Bhoze Trgen a8 Fhew 00 K&

T8 HIEBacky 88 B8 1901&®
2.6?66&({) 52635"62&3. 5530 §5& 55‘5(355 &)Cﬂ)g
cﬁdﬁaﬁz’oé B8orre 6J8 EHFPSEo S0 &3

:;ge’s Ereotod. &)dosé, eso‘ﬁ:@'-*z’oé EESY
8 Sddore SrthEokio S, o)oLs;&)o

PRI £

2or8es® o womrdo, I0&, TPhe TTewdH
é:&?&o& 4

Sol.

14.

Siver(o&)% = 0.25 = 25%

Copper (o°n)%=0.05 = 5%

Gold (220re80)%=100%—(25+5)% = 70%
40% of a number is 800 then find the
number ?

a8 SoggS® 40% Deoids 800 wows, © Bogg?

Sol.

15.

40 ——800
100% ?
800x100
® oy = = 2000
There were 2075 members enrolled int

he club during last year this year
enrolment 11 decreased by 4%

i) Find the decrease in enrolment

ii) How many members are enrolled
during the year

a8 E5S° Bosd HSodd o 2075 HHod
Bomets. & BosEBo VoS0 Bogy 4% 0%
1) é{}zﬁwé Soggdo

2) & BosEBo VoS 0 Boggds Kkoshod

Sol.

16.

i) No.of persons decreased in club
§@§6‘5 é@:éawa Sogg

= 2075x—_ =83
100
i) No.of persons enrolled in this year
96
=2075x——=1992
100 (on)

=2075-83=1992

A farmer obtained a yielding of 1720
bags of cotton last year. This year be
expects crop to be 20% more. How
many bags of cotton does he expect
this year.

a8 BB HE BosHBo (H8 Hows® 1720
DFe HIHHS SNod. & JodHHvo s
(B8Bowp Bl 20% BRSSPI
PRI, won® & BodHvo wsd Y
o0 BIHDER ©8RTHD.

Sol.

17.

120
. Required bags =1720x T 2064
An owner increases the rent of his house
by 5% at the end of each year. If
currently its rent is Rs.2500 per month.
How much will be the rent after 2 years?
¥ e cHedrd 85 208 o3 (B

Sol.

18.

Sol.

19.

DH08 dEPH0/ BOPD

068 FBINg08° LodosKo Sy Dekgtsadh
ﬁ‘zroé Sorren SRoifertisron. 5208 EBo
o 288 JohS &)c&gé eao:’oév&oé S8orren

RS eg0S® Sorethy oo 88° Dot

BosBBo 5% o, Bh¥o « 88 208
©F 5. 2500 ©ons Botkh SoSore ShHard
© 208 ©g8 o8 ?
a':l’e%bd’nv éospé =
105 105

2500 x ——x ——=2756.25
100 100

. Rent after 2 years = 2756.25

The population of a village is 6250. It
is found that the rate of increase in
population is 8% per annum. Find the
population after 2 years.

2.8 ([ 22 6250 & ([ eseg oS
Bew BoBSBENSH 8% 1 HBoSn&ob.
©ond Botdh LoSHBHIvw SHTE & ([P
225°g® Dod ?

200110 ST (P 233°g° =

6250 % %x 108 7290
100 100

A TV was bought at a price of
Rs.21000. After 1 year the value of the
TV was depreciated by 5%
(Depreciation means reduction of the
value to use and age of te item) Find
the value of the TV after 1 year.

a8 80dadS 8r.21,0000% Sond. a8
BodGo Shard R dewd 5% SnKd.
(SHeo FEEED, otnd o Deod Sifhi)

2.8 BoSHBo s & BODeS Deod Jos?

Sol.

20.

Sol.

21.

Value of the T.V

— 21000 x—>_ —19950Rs.

100

In a laboratory the count of
bacteria in a certain experiment was
increasing at the rate of 2.5% per
hour. Find the bacteria at the end of 2
hours. If the count was initially
5,06,000.
af (BDrdTodt, HRrirdnd 8o
wrfocirs® Bhibse Ben Kot 2.5% o
Ho8 0D, (FSosfos® ee@B8ar Soxg
5,06,000e0:55S° Boh Howe SHhard e

a:v&%aw Sogg dos ?

wggacﬁav Sogg =
506000XIO£X10£: 531616.75
100 100

Find the population of a city after 2
years which is present 12 lakhs, if the
rate of incrase is 4%.

SHfo&® BHosredron. Jgod eesos®
D8 ParEo BLEIFSE 08
8rfenotssh). PoETS 5000 S DesogS
(BB iy Y50 He

QiS5 08 Sorrenre S8 IS0

Sol.

22.

Sol.

23.

e

&3 OR 005 ?
()

-1 é%ea (SS9 =gy 12 oF oo,
BOSEBIEE 4% P a2mrgre DXihEr
408 2 BosHBBne EHTE © S eoee
Qod ?

é%aa 2rgr (29011885°68)

=12,00,000x 194, 104
100 100
=120x104x104
=12,97,920
Machinery with Rs.10,000
depreciated by 5%. Find its value after
1 year.
85°.10,0000 Dendiie ool Fh Skihte
Bew 5% wowd a8 HosBvo Shard ool

Dend o ?

10000 x 23, =95000Rs.
100

A student has no obtain 33% of the
total marks to pass. He got 125 marks
and failed by 40 marks. The maximum
marks are.

a8 éééés ééga" Soetpen 33%. o8 S)w‘gg
125 Srdged od 40 Srdye Boesd Pond
odingh. © 08 Koy drdne I ?

1) 300 2)500 3)1500 4)1100

Sol.

24.

Sol.

Pass Marks = 125 + 40 = 165
(051w 165 Sotinesn %"@_f_on 33% Sxodnen
JHoDIEN)

33% — 165
100% —?
$88, Koy Srdnes (Maximum marks)
=100%x5=500

A student has to get 40% of the
maximum marks to pass an
examination. Vamshi got 154 and got
14 more than required to pass. The
max marks are.

a8 $85S® P8 & warwod Iwdo é.wéo&_e:ess
40% Srdyes FHowd. wond w HOZSE
S088 SRS Sredinen 154, FS Sootne B
14 SrSnes 8% wond o $8F Iwdo

Srdnen Y ?
1) 200 2)350 3)300 4)250
Pass Marks = 154 — 14 =140

(140 Sr8pen PO SrdRe a°Eo ©@ond
40%% HH7K0)

40% — 140
100% — 2
a5
106 x14
Max Marks = #ﬂ —350

A ke
3855, 9365 96 50,5,

50002308




